

4

QUESTÃO 34

QUESTÃO ANULADA

RAI PELO SISTEMA DE CUSTEIO TOTAL E CUSTEIO RACIONAL

S.C.T.

$$CIPA = 9.000.000 \text{ €} + 6.000.000 \text{ €} = 15.000.000 \text{ €} / 1.500.000 = 10 \text{ €}$$

$$CIPV = 12.000.000 \text{ unid.} \times 10 \text{ €} = 12.000.000 \text{ €}$$

$$\text{VENDAS } 21.600.000 \quad (1.200.000 \text{ unid} \times 18 \text{ €})$$

$$CIPV \quad 12.000.000 \quad (1.200.000 \text{ unid.} \times 10 \text{ €})$$

$$\text{MAG.} \quad 9.600.000$$

$$CINI \quad -$$

$$CNI \quad 8.875.000 \quad (3.125.000 + 5.750.000)$$

$$\text{RAI} \quad 725.000 \quad \text{S.C.T.}$$

S.C.R.

$$\frac{\text{Prod. Real}}{\text{Prod. Normal}} = \frac{1.500.000}{2.000.000} = 0,75 = 75\%$$

$$\text{Prod. Normal} = 2.000.000$$

$$C.F. = 6.000.000 \times 0,75 = 4.500.000 \quad \text{C.F. Inp.}$$

$$6.000.000 \times 0,25 = 1.500.000 \quad \text{C.I.N.I.}$$

$$\text{VENDAS } 21.600.000$$

$$CIPV \quad 10.800.000$$

$$\text{MAG.} \quad 10.800.000$$

$$CINI \quad 1.500.000$$

$$CNI \quad 8.875.000$$

$$\text{RAI} \quad 425.000 \quad \text{S.C.R.}$$

$$CIPA = 9.000.000 + 4.500.000 = 13.500.000 / 1.500.000 (\text{Prod.}) = 9 \text{ €}$$

$$CIPV = 1.200.000 \text{ unid. vend.} \times 9 \text{ €} = 10.800.000$$

R: NENHUMA DAS ANTERIORES